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Answer all questions in the spaces provided.
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Figures 1a and 1b show data on population aged over 60 in More and Less
Economically Developed Countries (MEDCs and LEDCs).

Figure la Figure 1b

Figure 1la and Figure 1b are not reproduced here
due to third-party copyright constraints.

(i) With reference to Figure 1a, describe the expected changes to the percentages
of population aged over 60.

(i) With reference to Figure 1b, contrast the characteristics of those aged over 60
in MEDCs with those in LEDCs.
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1 (@ (iii) Outline the economic impacts of an ageing population on a country such as
the UK.
Question 1 continues on the next page
Turn over p
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1 (b) How and why does population structure change as a country progresses through the
stages of the Demographic Transition Model?
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2 (@ Figure 2 (on the insert) shows a canal-side area in Nottingham's inner city.

2 (@ (1) Withreferenceto Figure 2, state two ways in which this urban environment
has benefited from re-urbanisation.

2 (& (i) What factors might have encouraged the process of re-urbanisation in this
area?

Question 2 continues on the next page

Turn over p
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2 (@ (iii) Outline the consequences of gentrification for inner city areas, such as the one
shown in Figure 2.
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(b) Although many inner cities in the UK, such as in Nottingham, have undergone
significant improvement in recent years, counter-urbanisation is an on-going process.
Examine the reasons why counter-urbanisation continues in the twenty-first century.

Turn over p
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(@ Figure 3 shows the percentage change in European motor vehicle production
between 2004 and 2005 for selected countries.

Figure 3

Figure 3 is not reproduced here due to third-party copyright constraints.
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3 (a) (ii)) Suggest reasons for the variations between countries shown in Figure 3.

(3 marks)
3 (a) (iii) Outline possible economic and social impacts on a country experiencing

decline in motor vehicle production.
(5 marks)
Question 3 continues on the next page
Turn over p
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3 (b) Explain why Newly Industrialising Countries have been successful in their recent
industrial development.
END OF QUESTIONS
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There are no questions printed on this page

DO NOT WRITE/ON THIS PAGE

ANSWER IN THE SPACES PROVIDED
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There are no questions printed on this page

DO NOT WRITE ON THIS PAGE
ANSWER IN THE %PACES PROVIDED
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Question 1  Figure 1: Source: UN Population Table 2006
Question 2 Figure2: A JBarker
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